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UNIT 3 REVIEW

6 : Lesson 4-1 Powersand Exponents (op. 136-140)

o

d Vlriuudnq;msm-umw 0 Example 1
1 6-6-6.6-. Jaa :t—lj Writeg+a-b=bebebebusing exponents.
3 xexex ,—LX 4.ffgog.geg smpmmmmmm1mmuhg
Evaluate each e);r:sim B qal h T
,,,,, v’ baBabs i 30 Bebaba el
5. 3% C@ 6. 2.4 2(uuqyT28] =% P
0
7.(—4)“::4_.{71 845 1.5 25) Ly
Lol S i ey Evaluate (a-+ 26} ifa=3and b=—2.
9.1 -6 (NVL=[IT] 4o, oy 2 (2 m%%nw’-un(-zﬂ’
1. 2y +2) - 2w ( y

)2 2(- )77 (2 (Y 0)()
el R
adults have? “7777‘)"21(615’1

14. Xander ran a total of 5° kilometers last month.
How many kilometers did he run?

Lesson 4-2 Negative Exponents (pp. 141-146)
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VY ISIA £ COEPC\CYTE
reep base,
add |Subrract @APONCES

- 4-3_ Multiplying and Dividing Monomials 55.147-1521
[ it ench productor quotien Express usingposite_ €% = _b
exponents. ,..,.go.qud—
230372 LJ-E]A n'- (—n‘#( 7Y/ M:.A”. et
| 30.mems - <] Aer =[x et N1 e
| 2. cwwen -1z am-m—m S0a'] e comemen e s
o ] e
) R -k 2 3

6. m:numo'mmmm.um bAS
is about 10° kilometers from the Sun. About how

| many times farcher from the Sun s Saturn than [ Insgapendi ey,

I Venus? 1o* ¥ it PR

: o= |
Lesson 4-4 ScentificNotation (sp.153-158) : s ,l i
T express each mmherln standard form. Example 6 - A

37. 582 % 10% =55 2 5820) 38.9x 1072 C, Express 0.0049 In scientific notation. !» ‘

'ss.nxw-x';"’ 40, 252X 105 | 357000 00049=49X 0001  Thedecmal point moves 3 places.
C c0) og 1

| Express each number In scientific notation. =49%107 The eaponent is negative. @
a1.379 379 x10%  42. 0000561 [S.61 X 104 1
\

\

43. 47,000 44. 00072
4.7 x 104

Evaluate each expression.

2, (24X 1072 % 109 '
SQAXMCXIY  pomenram e |
=(4.8)10° x 10%) ultiply 2.4 by 2.
=48X10%45 Paoduct of Pousers
=48%10° Add 1t exporients 1

b. (95 % 10™)+(63 x 10%) H
(950X 107 4 (63 % 107 Wrievs 10 s |

950% 10",
+63) % 10° Distibutize Prageity

Add 950 ana iy ‘\ ‘
!

Wirite 9563 % 10" 10
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Les30n 4-6 Square Roots and Cube Roots (pp 100-173)

nnd...s..,...,.
159 =13

nr@
sswc‘]

!iﬂmhnd\q\mmoywhmmdﬂn-'ﬁ‘

“-\/? 5] 57. V5T -~
YWY 5 VG

60. The period of a pendulum s the time In seconds &
takes to make one complete swing. The perlod P of
 pendulum s given by the formula P = 628y 5,
‘where £is the lengeh of the pendulum. fa clock’s
pendulum is 8 feet long, find the perlod.

T T ——————

nnd—d-m'"m*““"‘*

B

b VB =5 Pmsesesois

=

Estimate V70 to the nearest integer.

The first perfect square less than 7015 64.

The first perfect square greater than 70 is 81
PR Vi

825 &5 8IS

v
Vi

Since 7015 closerto 64 than 81,V/70 s closer
toBthanto8.

Lesson 4-7 The Real Number System op.174-179)

Name all of the sets of numbers to which each real
number belongs. Write natural, whole, integer,
1ational,or irrational.

o1 18 =120 o 8 =10T0MAL
88, V7A - i(cahona) 64, 45 (ahonal

foonperkect Swvae)  (cepeanngdeandl

each @ with <, >, or = to makea true oo

-§.%L-%.2
u.—wﬁic-als-

68, VEB @8

24

to determine
risthe

_Example 10

n.pl.eowm‘<.>.u-mmro
atrue statement.

ViZ=346410162... P =3333...
s ¥ vn

)

30 31 32 33 34 35 16 37 38
smv"zmemnghm \I—1>—

6xa
Solve 4n* =44, il
anl=4 Virite the cquation.
=1 Dkl each side by &
A=l Deiiition of square
n&33and=33  Uscaclculaton

The solutions are approximately 3.3 and —
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Lesson 7-1 The Distributive Property - (pp. 292-296)
Use the Distributive Property 1o write each expression _ €xaimple. 1 e
asan equivalent numeric expression. Then evaluate Use the Distributive Property to write 6(3 +9) as
e — an equivalent numberic expression. Then evaluate
LE@+S ST T T AT | theerpression.

| 6(3+9)=6:3+6.9

U
2. (=10493 - -3, 9

Use the Distributive Property to write each expression =18+54 Sy,
asan equivalent als (m‘f'f'k =7 A,
Py
Ly+37 {1y42)| A <Ho=7]-20114
o BEAINCE L Y i
5.-4p-9 6. (8in ~ Q=

Use the Distributive Property to write 3(x— 6) as an

7. The Stuart family has 5 Bers. They & equivalent algebraic expression.
purchase 2 soda at $2.50 each and a hot dog at
$3.50each. Use mental mathto find thetowal cost 3¢ —6) = 3x—3:6
of the food. Justify your answer by using the =3x—-18 Sinpiily.

Distrioutive Property. 3,50(5)+3.50(5) _ _°

or 2501350075 () 4% \
8. Admisson o thestate fai s S8 fraduifsand 7 for | 0 (€)1 U
students. Write two equivalent expressions Iftwo
adults and two students go to the fair. Then find the

total admission cost. 2A€)+2(71) or 2(&‘7\

‘Lesson 7-2 Simplifying Algebraic Expressions (pp.299-304)

expressian. _Example 5
NG 10 3e+6e :@ Simplify ~6x+ 5 +1.

F +5- 6
-3 z.&(\s-rz: S K42 O+ S +x
) 14. zﬂx}nb Shrk| ==Brtx+s Commutative Property
b 1 Db =i
N4 u-wnkJmmi =K=6)+1lx+5  Dhuowiive Propenty
« =545 Simpiiy,

s> [sxs) Kt or e
g -° throw s
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y Lesson 7-3 Adding Linear Expressions vp.
. Add. Use models if needed. Example ¥
. i
7. @9+ 12 {2 %+ 7 Add (4x+2)+ (=5 +3).
18. (-3 —8)+ Gx+9) Awange the linear expressions vertcally,lining ug
terms In columns. Then add.
Ax+2
4 —5x+3
X+

DisStYibyte $hhe -4 19V
Lesson 7-4 Subtracting Linear Expressions * (pp. 310-313)
‘Subtract. Use models Ifneeded. __Enampls 5 o
21 @42 S8 ¥ 3HESA L {24-H)  sbtract (3 —5) — S+ 1)

22, (~3x+ Q@A = -2U-EHUTNX)  Br—5)—(—Br+T) et lncar expre
2&(5:—7)-1"('.“-:}9) =SA-THA A=A+ 2 =3x—5+8—1 Definition of subliact
24, on:;ee:;z.mw; ) dolas The flloving =3+ 8c—5—1 Govplketems.
wes e
Tk et "E;':’:)'" e mwes Sy,
IAFU-X=K
2 A4

Lesson 7-5 Factoring Linear Expressions: (pp.316-320)

Factor each expressian. f the expression cannot Example 6
::ﬁ:mdwﬂhmmbem.u»dnehmlu —

25 4412 H(X+3) 26 x5 A(A-0) s
27. 30— 15 - 3(*5) 28 5x412 (B F. DEE e
29, 10110 2 2(7x5) 30, 28K — 42 10 (2%-3) I D@
35+18xC.0.F 32 45+60x |5(37 ) i

’:5)@3 o
new car. If mis the

« X Wrie the prime factonzatl
+ 3 Qucle the common factors

Write each term as a product of the 6
remaining factors,




